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Note : Attempt any two questions from Section A 

and any five questions from Section B. 

 

 Section—A 2×20=40 

1. Discuss the contribution of industries to the 
growth of foreign trade in India. 

2. Bring out the socio-economic factors hindering 
industrial development of the Indian economy. 

3. What measures can be adopted for balanced 
regional development ? Discuss. 

4. Describe how industrial sickness affects 
economic growth. 
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 Section—B 5×12=60 

5. Discuss how industrial investment expands 

savings of the economy and promotes resource 
mobilisation. 

6. Explain the concept of an optimum firm. 

7. Discuss the role of MNCs in economic 
development of India. 

8. What are the problems faced by the joint sector 
in the Indian economy ? 

9. Describe the government policies that promote 
small scale industries in India. 

10. What are the factors that influence the location 
of industries ? 

11. Give an overview of the changes that occurred 

in the post-1991 period in the Indian Industrial 
Sector. 

12. Write short notes on the following : 

(a) Industrial Employment Act, 1946 
(b) Small Industries Development Bank of 

India (SIDBI) 
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      BECE–107 

Lukrd mikf/ dk;ZØe (ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-bZ-lh-bZ--107 % Hkkjr eas vkS|ksfxd fodkl 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % Hkkxµ^d* ls fdUgha n k s iz'uksa rFkk Hkkxµ^[k* ls 

fdUgha ik ¡p iz'uksa ds mÙkj nhft,A  

 Hkkxµd  2×20=40 

1- Hkkjr ds fons'kh O;kikj esa vkS|ksfxd {ks=k ds ;ksxnku 

ij ppkZ dhft,A 

2- Hkkjrh; vFkZO;oLFkk ds vkS|ksfxd fodkl esa ck/d 

lkekftd&vkfFkZd dkjdksa dks Li"V dhft,A 

3- lUrqfyr {ks=kh; fodkl ds fy, D;k mik; viuk, tk 

ldrs gSa \ ppkZ dhft,A 

4- o.kZu dhft, fd vkS|ksfxd #X.krk fdl izdkj 

vkfFkZd lao`f¼ dks izHkkfor djrh gSA 
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 Hkkxµ[k 5×12=60 

5- ppkZ dhft, fd vkS|ksfxd fuos'k fdl izdkj 

vFkZO;oLFkk esa cpr lao/Zu dj lalk/u tqVkus esa 

lgk;d gksrk gSA 

6- ,d b"Vre iQeZ dh ladYiuk dh O;k[;k dhft,A 

7- Hkkjr ds vkfFkZd fodkl esa cgqjk"Vªh; fuxeksa dh 

Hkwfedk ij ppkZ dhft,A 

8- Hkkjrh; vFkZO;oLFkk esa la;qDr {ks=k fdu leL;kvksa dk 

lkeuk dj jgk gS \ 

9- Hkkjr esa y?kq m|ksxksa dks c<+kok nsus okyh ljdkjh 

uhfr;ksa dk o.kZu dhft,A 

10- m|ksxksa ds LFkkuhdj.k dks izHkkfor djus okys dkjd 

dkSu&ls gSa \ 

11- Hkkjrh; vkS|ksfxd {ks=k esa 1991 ds ckn ls vk, 

ifjorZuksa dk ,d fogaxe fp=k.k dhft,A 

12- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(d)  vkS|ksfxd jkstxkj vf/fu;e] 1946 

([k)  Hkkjrh; y?kq m|ksx fodkl cSad (SIDBI) 

× × × × × × × 


